Canvass Results - City of Piney Point Village

Spring Branch ISD

SBISD May 2023 General

5/6/2023

Page 1

Official Results

Registered Voters 592 of 103481 = 0.57%

Precincts Reporting

Alderman, Position 1 - City of Piney Point Village - Vote for one or none

Precinct	Michael Herminghaus	Cast Votes	Undervotes	Overvotes	Absentee Voting Ballots Cast	Early Voting Ballots Cast	Election Day Voting Ballots Cast	Total Ballots Cast	Registered Voters	Turnout Percentage
043 Spring Branch	434	434	158	0	4	407	181	592	2,738	21.62%
Totals	434	434	158	0	4	407	181	592	2,738	21.62%

Canvass Results - City of Piney Point Village

Spring Branch ISD

SBISD May 2023 General

5/6/2023

Page 2

Official Results
Registered Voters

592 of 103481 = 0.57%

Precincts Reporting

7 of 7 = 100.009

Alderman, Position 2 - City of Piney Point Village - Vote for one or none

Precinct	J. Dale Dodds	Michael Keegan	Cast Votes	Undervotes	Overvotes	Absentee Voting Ballots Cast	Early Voting Ballots Cast	Election Day Voting Ballots Cast	Total Ballots Cast	Registered Voters	Turnout Percentage
043 Spring Branch	345	219	564	28	0	4	407	181	592	2,738	21.62%
Totals	345	219	564	28	0	4	407	181	592	2,738	21.62%

Canvass Results - City of Piney Point Village

Spring Branch ISD

SBISD May 2023 General

5/6/2023

Page 3

Official Results

Registered Voters 592 of 103481 = 0.57%

Precincts Reporting

Alderman, Position 5 - City of Piney Point Village - Vote for one or none

Precinct	Jonathan C. Curth	Cast Votes	Undervotes	Overvotes	Absentee Voting Ballots Cast	Early Voting Ballots Cast	Election Day Voting Ballots Cast	Total Ballots Cast	Registered Voters	Turnout Percentage
043 Spring Branch	435	435	157	0	4	407	181	592	2,738	21.62%
Totals	435	435	157	0	4	407	181	592	2,738	21.62%

Canvass Results - City of Pine Point Village

Run Time

Run Date

Spring Branch ISD

Official Results
Registered Voters

592 of 103481 = 0.57%

Precincts Reporting

7 of 7 = 100 00

SBISD May 2023 General

5/6/2023

Page 4

*** End of report ***

Cumulative Results - City of Piney Point Village

Spring Branch ISD

SBISD May 2023 General

Registered Voters 592 of 103481 = 0.57%

Official Results

Precincts Reporting 7 of 7 = 100.00%

Run Time 4:22 PM Run Date 05/13/202 5/6/2023 Page 1

Alderman, Position 1 - City of Piney Point Village - Vote for one or none											
Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total		
Michael Herminghaus		3	100.00%	301	100.00%	130	100.00%	434	100.00%		
	Cast Votes:	3	100.00%	301	100.00%	130	100.00%	434	100.00%		
	Undervotes:	1		106		51		158			
	Overvotes:	0		0		0		0			

Alderman, Position 2	- City of Piney Point	Village - V	ote for o	ne or none					
Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total
J. Dale Dodds		4	100.00%	216	56.54%	125	70.22%	345	61.17%
Michael Keegan		0	0.00%	166	43.46%	53	29.78%	219	38.83%
	Cast Votes:	4	100.00%	382	100.00%	178	100.00%	564	100.00%
	Undervotes:	0		25		3		28	
	Overvotes:	0		0		0		0	

Alderman, Position 5 - City of Piney Point Village - Vote for one or none											
Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total		
Jonathan C. Curth		3	100.00%	299	100.00%	133	100.00%	435	100.00%		
	Cast Votes:	3	100.00%	299	100.00%	133	100.00%	435	100.00%		
	Undervotes:	1		108		48		157			
	Overvotes:	0		0		0		0			

^{***} End of report ***

Precinct Results - City of Piney Point Village

Spring Branch ISD

SBISD May 2023 General

5/6/2023

Page 1

Official Results
Registered Voters

592 of 103481 = 0.57%

Precincts Reporting
7 of 7 = 100.00%

 Run Time
 4:21 PM

 Run Date
 05/13/2023

043 Spring Branch

592 of 27,013 registered voters = 2.19%

Alderman, Position 1 -	Alderman, Position 1 - City of Piney Point Village - Vote for one or none											
Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total			
Michael Herminghaus		3	100.00%	301	100.00%	130	100.00%	434	100.00%			
	Cast Votes:	3	100.00%	301	100.00%	130	100.00%	434	100.00%			
	Undervotes:	1		106		51		158				
	Overvotes:	0		0		0		0				

Alderman, Position 2	- City of Piney Point	Village - V	ote for o	ne or none					
Choice	Party	Absente	Absentee Voting		Early Voting		y Voting		Total
J. Dale Dodds		4	100.00%	216	56.54%	125	70.22%	345	61.17%
Michael Keegan		0	0.00%	166	43.46%	53	29.78%	219	38.83%
	Cast Votes:	4	100.00%	382	100.00%	178	100.00%	564	100.00%
	Undervotes:	0		25		3		28	
	Overvotes:	0		0		0		0	

Alderman, Position 5 - City of Piney Point Village - Vote for one or none										
Choice	Party	Absente	e Voting	Earl	y Voting	Election Da	y Voting		Total	
Jonathan C. Curth		3	100.00%	299	100.00%	133	100.00%	435	100.00%	
	Cast Votes:	3	100.00%	299	100.00%	133	100.00%	435	100.00%	
	Undervotes:	1		108		48		157		
	Overvotes:	0		0		0		0		

^{***} End of report ***